
l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg
lalgof]lht
/sd ?=

s}=

1 sNe{6 lgdf0f{,gfnL lgdf0f{ /
af6f] u|fe]n

bËfnL s'nf] -dlGb/ g]/_ Zofd zdf{sf]
3/ b]lv klZrd gGsfsf] 3/ ;Dd /
;fy} la/]Gb|sf] 3/ b]lv sdn
lh=;L=sf] 3/ ;Dd gfln lgdf0f{

10,00,000.—

2= kSsL b'F8 lgdf0f sl6ofgufFp dlGb/ g]/ 2,00000.—
3= kSsL gfnL lgdf0f{ ;'t}of af6f] !)) ld6/ ;Dd 1,00000.—
4= kSsL df]x8f agfO{ a9L

ePsf] kfgLnfO{ v;fNg]
chu9jf b]lv dfly du/f}6fsf] ljrdf
gS;f cg';f/sf] s'nf] lgsfnL

4,00000—

5= sNe{6 lgdf0f{ /fdgu/ b]lv 3';'sk'?jfsf] s'nf]df 1,00000.—
6= kSsL jfn lgdf0f{ ;'o]{sf] 3/ g/] -v8uk'/ vfn_ s'nf]df 3,00000.—
7= sNe{6 lgdf0f{ dfof vfDrf k/:k'/ sf] 3/sf] k"j{ lt/

s'nf]df
3,00000.—

8 50 kv sf] 6«fG;km/d/ vl/b v8uk'/ / k;]{gL 1150000.——
9= #) yfg af]l/Ë lgdf0f{ ljleGg 6f]nsf]] dfu cg';f/ 18,00000.—
10= dL:hb lgdf0f{ k;]{gL 1,00000.—
11= t6aGwg v8uk'/ u+uf/fd rf}w/L 1,50000.—

hDdf 56,00000.—

l;=g+= of]hgf tyf sfo{qmdsf] gfd :yfg /sd ?= s}=
1 dl:hb lgdf0f{ k|;]{gL 2,00000.—
2= %) yfg kf]n / tf/ vl/b ljleGg 6f]n af6 dfu cg';f/ 4,92500.—
3= lzj dlGb/ lgdf0f{ k;]{gL,/fw]Zofd chu9jf / aflnsf

x8}of
1,00000.—

4= xo"dkfO{k yfg !* yfg vl/b 6f]n af6 dfu cg';f/ 2,42000.—
5= l;nfO{ s6fO{{ a'gfO{ tflnd dlxnfx?nfO{ 195500.—
7= sNe{6 lgdf0f{ xl/ cf]d u'Ktf p7}of 50,000.—
8= xof08 kfO{k vl/b ljleGg 6f]nsf] dfu cg';f/ 2,00000.—
9= DoflrË km08 :jf:Yo rf}sL 100,000.—
10= df]6/ vl/b 50,000.—
11= df]6/ vl/b 50,000.—

hDdf 1680000.—

j8f g+=$
s'n ah]6 ?= *),)),)))

!= s_ k"af{wf/ lasf; M— -?= %^,))))).—_

@= k|j{4wfgfTds M— !^,*),))).—

nlIft ju{ &,@)))).—



l;=
g+=

of]hgf tyf sfo{qmdsf] gfd :yfg
lalgof]lht
/sd ?=

s}=

1 afn d}qL :yflgo zf;g 6,0000.—
lbk]Gb| cfwf/e't ljBfno 1,00000.—

2 afnaflnsf tkm{ db/;f lgdf0f{ k|;gL{ 100000.—
3 afnaflnsf tkm{ ;fd"lxs ejgk" lszf]/L ejg tf/ hfnL

$) k|ltzt
100000.—

4 dlxnf tkm{ 18600.—
dlxnf tkm{{ k'/fgf] of]hgfdf
e'QmgL

a'6]gL $) k|ltzt 53400.—

5= cfbL af;L ÷ hghflt 0.—
cflbaf;L tkm{ k'/fgf] of]hgfdf
e'QmgL

uf=la=;= cuf8L $)
k|ltzt

72,000.—

6 blnt tkm 48,000.—
5= o"jf tkm{ 48,000.—
6= lk58f{ ju{ 0.—

lk58f{ ju{ tkm{ k'/fgf] of]hgfdf
e'QmgL

uf=la=;= cuf8L $)
k|ltzt

72,000.—

7= ckfË 24,000.—
8= h]i7 gful/s 24,000.—

hDdf 720000.—


